
SSEBITDA – A steady-state profit metric for SaaS companies
It’s tough for a growing SaaS business to ascertain whether or not it’s truly profitable.  Here’s a way to do it.
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Your company is unprofitable because you’re “spending to grow”—dumping money into sales and marketing, far faster than you’re collecting revenue, resulting in fast but unprofitable growth. This is what you’re supposed to do—so they say—to build a large enterprise.

Is this smart, or are you just creating a permanently-unprofitable company?  How do you objectively measure whether you’re strategically trading dollars-today for profit-tomorrow, or whether your business model is broken?

EBITDASM: Rackspace’s attempt

When Rackspace was scaling rapidly, they answered this question using a metric called EBITDASM. Here was their logic:

Rackspace is efficient at acquiring customers. Specifically, our CAC1 is small compared to our LTV.2

Therefore, it’s wise to spend as much as possible on growth: We take market share, cost-effectively, and even though that burns cash in the short-run, we’re very profitable in the long-run.

However, we see other companies who claim this was true for them, but they never actually got profitable!  We don’t want to become one of those.  What can we objectively measure that would tell us whether we’re being smart?

Well, this is all about S&M3 spend. What if we stopped S&M spend? We’d stop growing, but besides that, what would happen to the rest of our finances?

Specifically: Would we be profitable?  If the answer is “no,” then our core business model isn’t profitable. But if the answer is “yes,” then we really are justified in saying that our underlying business is profitable, and our additional spent beyond that is indeed “to grow.”



1 CAC is the Cost to Acquire a Customer, defined as all Sales and Marketing expenses, divided by the number of customers yielded by those activities.


2 LTV is the LifeTime Value of a customer, meaning the total gross revenue the customer will generate over the years it remains a customer. Side-note: I don’t believe in LTV.


3 S&M is Sales and Marketing. Why, what did you think that stood for?


They called the resulting metric EBITDASM—an extension of the typical American accounting metric of EBITDA,4 where in addition to the usual exclusions, we also exclude Sales and Marketing.

4 EBITDA is Earnings Before Interest, Taxes, Depreciation, and Amortization. It measures a company’s normal business operations by stripping away non-operational expenses. It’s useful for comparing operational profitability across companies with different capital structures, tax situations, and accounting practices.


Computing using the usual metrics:

EBITDASM = EBITDA + SM

For small software companies who don’t have purchases to amortize, don’t have assets to depreciate, and so on, an even simpler version is just:

EBITDASM = [your definition of "profit"] + SM

I like this model, and we’ve used it to-date at WP Engine.

Two flaws in EBITDASM

While EBITDASM is a good start, it suffers from two flaws:

	(1) Stopping Sales & Marketing does not mean revenue is flat.

	An assumption above was: If we stop S&M spend, the company will be static, with revenue neither growing nor shrinking.  But that’s not true, because revenue will fall (due to cancellations and downgrades) or grow (due to upgrades).

The intent was correct—measuring profitability assuming the company is neither growing nor shrinking5—so we need a metric that actually does that.

	(2) What if marketing and sales isn’t efficient?

	Another assumption was: Because we’re efficient at acquiring customers, it’s logical to spend as much as possible. But what about companies where that assumption is false?

How efficient does customer-acquisition have to be6 before we’re allowed to use this metric? We shouldn’t have to debate that; the metric should apply to all companies.

Of course Sales and Marketing cost-effectiveness is important!  But it’s a separate metric which, by the way, you already have. Let’s not cram too many ideas into a single metric.



5 To see why: Consider a company that’s “profitable” in the sense that revenue is greater than costs, but it’s shrinking every month. That’s a company that will soon be dead, and sooner will be unprofitable. This is not what we mean by “profitable.”


6 There is prior art on this question, e.g. some say the threshold is an LTV/CAC of 3, because of one blog post by David Skok more than ten years ago.  But others say 5 and others say 1, and I say that LTV isn’t the right way to think about it anyway, and you should use payback period instead.


Is there a way of measuring whether the company is “fundamentally profitable” while avoiding these two flaws?

Faithful readers might at this moment have the flash of realization that I had when first considering these flaws—it involves the same set of SaaS metrics that come together neatly in the definition of COC (Cost of Cancellation).7  It turns out that COC is the key to this metric of “underlying profitability.”

7 Briefly: COC is defined as the cost of replacing customers that cancel, and thus the cost to remain at this “steady-state.” Most simply it is: CAC ✕ C, where C is the number of customers that cancel in a month. See the article for the formula, derivation, and discussion.


SSEBITDA: Steady-State profitability

Reframing the question leads us to the simple conclusion.

Let’s define a metric closer to the prose description: “Steady-state profitability,” which I abbreviate as SSEBITDA.  Longer: How profitable would we be, if the company were neither growing nor shrinking?

Having read the previous article on COC, the formula is simple:

SSEBITDA = EBITDA + SM − COC

Justification: To find steady-state profit, take actual profit, then exclude Sales and Marketing costs (because in steady-state we’re not trying to grow, so we’re not spending to grow), but then include COC (because by definition that’s the replacement cost of cancellations, which we need to incur to prevent revenue from shrinking).

This solves both flaws because:

	We’ve added back the cost of maintaining flat revenue (“steady-state”).

	COC includes sales-efficiency, so it works for all companies.



Thus we have a formula for “profit if we maintained the company we have today.”

Corollary: Profitable Growth Rate

Another interesting metric falls directly out of SSEBITDA—“Profitable Growth Rate,” i.e. the rate of revenue growth the company can self-fund while still being profitable.

Where p is the cost of a dollar of revenue (also defined in the COC article):

Profitable Growth Rate = SSEBITDA / p

Justification: If we recycle 100% of the funds from steady-state profitability into growth, we spend p dollars to earn each dollar of new recurring revenue.

Any growth larger than that will require being unprofitable, by a known amount. This is handy, because now we can justify “spend to grow” with precision.

For example, if SSEBITDA is 12% and p is 4, the company can grow at 3%/mo using its own money.  Supposing the company is willing and able to spend more to grow at 8%/mo, it will be unprofitable by 20%.8  A company in exactly this situation is indeed “spending to grow” in a responsible manner, and will result a profitable business once the dust settles.

8 Because 8% is 5% more than we could grow based on our own profits, and that 5% is bought at a cost of 4 dollars to earn every 1 dollar of revenue, so 5% × 4 = 20%.


More thoughts on SSEBITDA

Having used SSEBITDA for some years now, here are some assorted additional thoughts:

Negative SSEBITDA

A negative SSEBITDA still isn’t necessarily a bad thing.  It depends on the context and goals of the company.

For example, an early-stage high-tech SaaS company will be spending much more in R&D as a percentage of revenue than a later-stage company. Or a mid-stage company (like WP Engine) might have higher G&A spend (office space, finance, legal, HR) as a percentage of revenue, until it grows into those services. Those are expenses that eat into EBITDA and thus SSEBITDA, but that doesn’t mean the company won’t be profitable with larger scale.

Removing other costs, for a more precise “steady-state”

Or: Why not to do that.

It’s tempting to point out that not all engineers are working on maintenance; perhaps in steady-state we wouldn’t need to add so many new features, and thus engineering expenses would be lower too. And we might do away with some of that overhead expense.

This line of thinking is logical, but I don’t think it’s worth your time. First, it takes a lot of time, and this is supposed to be quick and helpful, not consume weeks of time from all departments every year.  Second, it’s not really true.  A product that never adds a new feature is not in a “steady-state,” because the market is changing around it—customer needs, competitive pressures, the rise of new technologies and trends (like AI).  So, exactly how much new-feature development is needed for “steady-state?”  Who knows, and it’s not worth your time to try to answer that.

Actionable insights come from components of SSEBITDA.

If you’re negative because GPM is low or COC is high, that’s an unprofitable model, and you need to address the root causes.  If it’s especially low due to cancellations or high CAC, those are actionable.  If you have intentionally high R&D costs because you’re investing in product, and a bump in G&A because you just moved into a new office space, you know those will right themselves over time.  You might even calculate an “expected SSEBITDA after scale” where e.g R&D plus G&A costs total 30% of revenue and see how you’re doing.

Watch it directionally more than absolutely.

This is good advice for most metrics.  At WP Engine we watched it move month over month from negative to positive and then continue to grow. While you see a positive trend, not just in the overall metric but in the pieces underneath, and when you have a roadmap for years to come about how you’re going to continue improving those metrics, that’s healthy regardless of the absolute value of the metric today.  After all, your goal is not to actually be in a steady state!

Once positive, growing as a percentage of revenue could be less important.

Consider that if SSEBITDA is steady 10% of revenue, and the company is growing, then in absolute dollars SSEBITDA is growing.  Of course it’s always great to see improvement in this metric as a percentage, but certainly it’s logical for a company to turn some percentage points back into investment in the business for de-risking and further growth rather than maniacally increasing this metric.



Now, go get profitable.  (Eventually.)
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